
Nome: SoluzioniSottrazione utilizzando linee numeriche aperte

Matematica www.CommonCoreSheets.it
1-7 86 71 57 43 29 14 0

Risposte

1. 39.613

2. 78.201

3. 19.297

4. 21.234

5. 9.196

6. 8.382

7. 18.085

Risolvi ogni problema.

1) 63.962 - 24.349 =

39.613 39.622 39.662 39.962 43.962 63.962

-9 -40 -300 -4.000 -20.000

2) 88.773 - 10.572 =

78.201 78.203 78.273 78.773 88.773

-2 -70 -500 -10.000

3) 33.303 - 14.006 =

19.297 19.303 23.303 33.303

-6 -4.000 -10.000

4) 45.636 - 24.402 =

21.234 21.236 21.636 25.636 45.636

-2 -400 -4.000 -20.000

5) 38.960 - 29.764 =

9.196 9.200 9.260 9.960 18.960 38.960

-4 -60 -700 -9.000 -20.000

6) 88.011 - 79.629 =

8.382 8.391 8.411 9.011 18.011 88.011

-9 -20 -600 -9.000 -70.000

7) 40.449 - 22.364 =

18.085 18.089 18.149 18.449 20.449 40.449

-4 -60 -300 -2.000 -20.000
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Risposte

1. 39.613

2. 78.201
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Risolvi ogni problema.

1) 63.962 - 24.349 =
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4) 45.636 - 24.402 =
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-2 -400 -4.000 -20.000

5) 38.960 - 29.764 =

9.196 9.200 9.260 9.960 18.960 38.960

-4 -60 -700 -9.000 -20.000

6) 88.011 - 79.629 =
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Semplificato

Risolvi ogni problema.

21.234 9.196 78.201 8.382

18.085 39.613 19.297

1) 63.962 - 24.349 =

63.962

-9 -40 -300 -4.000 -20.000

2) 88.773 - 10.572 =

88.773

-2 -70 -500 -10.000

3) 33.303 - 14.006 =

33.303

-6 -4.000 -10.000

4) 45.636 - 24.402 =

45.636

-2 -400 -4.000 -20.000

5) 38.960 - 29.764 =

38.960

-4 -60 -700 -9.000 -20.000

6) 88.011 - 79.629 =

88.011

-9 -20 -600 -9.000 -70.000

7) 40.449 - 22.364 =

40.449

-4 -60 -300 -2.000 -20.000

Risposte

1. 39.613

2. 78.201

3. 19.297

4. 21.234

5. 9.196

6. 8.382

7. 18.085

1-7 86 71 57 43 29 14 0
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